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Kypc 1 Kypc 2 Kypc 3 Kypc 4 Kypc 5 S
ceM. 1| cem. 2 | Becero [ ceM. 3 | ceM. 4 | Beero | cem. 5 | cem. 6 | Bcero | cem. 7 | cem. 8 | Bcero | cem. 9 | cem. A | Becero
TeopeTuueckoe obyueHne 172/6 {17 5/6 [ 351/6 | 17 2/6 [ 17 5/6 [ 351/6 | 17 2/6 | 17 5/6 [351/6 | 172/6 | 18 |352/6| 84/6 8 4/6 1;;2
2 3K33MEHaLI,MOHHble ceccuu 2 13/6 | 33/6 | 23/6 2 43/6 3 13/6 | 43/6 | 22/6 2 42/6 1 1 17 5/6
Y |YyebHasa npakTuka 4 4 2 2 2 2 2 2 10
I |Mpou3BoACTBEHHAA NPaKTUKa 8 8 8
MNa (MpepounnoMHas npakTuka 12 12 12
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